
STAIRCASE + TOP LANDING CORNIX
1. For the installation of the staircase we refer to the installation manual 'staircase'.
2. First install the staircase as mentionned under section 1 in the installation manual 'staircase'.
3. Connect the staircase stringboards to the top landing stringboards (U150/50) with bolts M10x20.

The top landing is delivered completely welded.
4. Now fix the support colmuns  (2 or 4 depending on the positioning of the top landing) to the top landing structure with 

M10x70 bolts (2 per support column) and erect the staircase.
5. Fixe the bracing (tube 38 mm) to the support columns with bolts M10x70.
6. Install the chipboard decking : simply put it in between the top landing stringboards.
7. Install the staircase as mentionned under section 3 to 9 from the installation manual 'staircase'. Anchor the support frames to the

floor with the anchors M10x90 (4 per frame) and fix the top landing to your platform with the screw bolts 8x35 from the staircase.
8. Now install the eventual top landing handrails : fix the handrailposts to the stringboards with bolts M10x20 (2 per post).

The handrail is delivered completely welded. Put the caps.
9. Your staircase & top landing are now well installed.

1 top landing welded structure length x width (mm) x 1
chipboard decking length x width (mm) x 1
bracing tube 38 mm length (mm) 2

2 top landing columns height 2 / 4
3 welded handrail, side 1 length (mm) 1
3 welded handrail, side 2 length (mm) 1

cap 50x30 2 per side 4
cap 40x20 2 per side 4
anchors M10x90 (2 per column)
top landing M10x20 2
top landing M10x70 4
bracing tube 38 mm M10x70 4
handrail M10x20 4 per side 8

www.cornix.eu - www.redirack.eu esc02g/16-05

to
p 

la
nd

in
g

n
o

m
en

cl
at

u
re

ha
nd

ra
il

bo
lts

For the other parts 
please consult the part

list in the 'staircase'
installation manual

1

3

2

3

++/32/(0)3/830 22 88
++/32/(0)67/41 12 40


